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	Solve each of the following.
	
	Solve each of the following.

	1. What is 826.0891 + 92.224?
	
	1. What is 19.3 x 4?

	2. What is 42.356 x 0.016?
	
	2. What is 88 ÷ 0.8?

	3. What is 0.141 ÷ 4.7?
	
	3. What is 654 – 0.8?



	Solve each of the following.
	

	1. What is 87,854,126 - 0.4?
	2. What is 325.45 x 0.27?

	3. What is 2200 ÷ 5.5
	4. What is 54,457,803 – 7099.046?

	5. What is 72,019,651.341 + 81,852.1?
	6. What is 3.24 ÷ 1.8?


Answer Key mat_7_1_4_k2ab_1
Guided Practice
1. 918.3131

2. 0.677696

3. 0.03
Review Practice

1. 77.2

2. 110

3. 653.2

Independent Practice
1. 87854125.6

2. 87.8715

3. 400

4. 54450703.954

5. 72101503.441

6. 1.8
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